

Townhouse in Zebbug



Zebbug, Central



€395,000

Reference No: 240461057-244

 Total Rooms: 7

 Floor Area (m²) : 204

 Bathrooms: 2

 Bedrooms: 2

Townhouse - For Sale - Zebbug

AZ-ZEBBUG - TOWNHOUSE, Well-Converted Townhouse in a UCA Area. Situated on the outskirts of Zebbug yet within close proximity to all amenities, this well-priced and beautifully converted Townhouse is located in a sought-after UCA area. The property welcomes you with a comfortable Sitting room, leading to a separate Dining room and a Kitchen/Dining area. It currently offers two spacious double Bedrooms, with the potential to easily convert into a third Bedroom if desired. Additional features include an internal Yard, a Backyard with a well, a Box room, and two roof Terraces, ideal for outdoor entertaining or relaxation. The property is being sold freehold. For further information or to arrange an immediate viewing, please contact us.

Features

- ✓ Kitchen/Dinette
- ✓ Entrance Hall
- ✓ Electricity Utility
- ✓ A/C
- ✓ Double Glazed
- ✓ Terrace
- ✓ Air Space
- ✓ Back Yard
- ✓ Satellite / TV/ Cable
- ✓ Ceramic Floor
- ✓ Water Utility
- ✓ 3 Phase Electricity
- ✓ Skirting
- ✓ Partially Furnished
- ✓ Yard
- ✓ Well
- ✓ Roof Terrace

Rooms

- ✓ Sitting : 6.12 x 2.71 m (16.59 m²)
- ✓ Dining : 4.2 x 4.15 m (17.43 m²)
- ✓ Double Bedroom : 3.72 x 5.25 m (19.53 m²)
- ✓ Bathroom : 1.4 x 1.91 m (2.67 m²)
- ✓ Double Bedroom : 3.3 x 4.42 m (14.59 m²)
- ✓ Laundry : 2.01 x 1.53 m (3.08 m²)
- ✓ Open Space : 5.3 x 4.55 m (24.11 m²)

- ✓ Open Space : 4 x 5.4 m (21.6 m²)
- ✓ Open Space : 1.3 x 1.5 m (1.95 m²)
- ✓ Open Space : 1.9 x 2.13 m (4.05 m²)
- ✓ Bathroom : 2 x 2 m (4 m²)

Gallery







Alex Calleja

RE/MAX Professionals - Mosta

M: 99838927

E: alexc@remax.com.mt

T: 27998977

RE/MAX Professionals - Mosta

24, Vjal L-Indipendenza, Mosta, Malta